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called ordered pair.

Cartesian product :- If A and B are two non empty
set then cartesian product is denoted by (A x B)
and is defined by A x B = {(a, b) : a€A, b&B}.

If two ordered pair are equal than corresponding
position elements are same.

If n(A) =p, n(B) = q then n(A x B) = pq.

In general cartesian product of two sets is not
commutative.

Relation - A relation R from aset Ato aset Bis a
subset of the cartesian product (A x B) obtained by
describing a relationship between the first element
x and the second element y of the ordered pairs in
(A x B).

In an ordered pair (x, y)ER, x is called first element
and y is called second element.

In (x, y)ER, y is called image of element x under a
relation R.

Domain - The domain of R is the set of all first
elements of the ordered pairs in a relation R.

Range - The range of the relation R is the set of all
second elements of the ordered pairs in a relation
R.

Function :- A relation f from a set A to a set B is
called a function if every element x of set A has
one and only one image y in set B. It is denoted by

f: A —B, Where f(x) =y.

For the function f: A — B, where f(x) =y. A is
called domain and B is called codomain of f.

The set of images is known as range of the
function.

The range set of a function is the subset of its
codomain.

Algebra of functions :-

Iff: X — Randg: X — R are two real valued
functions than,

@) (f+g) () =1fx) + g(x) : x€X

(i1) (f - g) (x) = f(x) — g(x) : x€X

(i) (f.g) (x) =f(x) . gx) : x€X

(iv) (k.f) (x) = k.f(x) ; k = Constant, x&X

f
v) <é> (x)= % :xeXand g(x) # 0.

Multiple Choice Questions
(a8 fawedia ge)

If (x + 1, y+2) = (3, 4) then value of x and y are-
(a x=3,y=2. (b)) x=2,y=2
() x=Ly=3 (d x=3,y=1
AT (x+ 1,y +2)=(3,4) B A x 3R y P A BT —
(a x=3,y=2. (b) x=2,y=2
© x=ly=3 (@ x=3,y=I
If (x+1,y—2)=(3, 1), then value of x and y are -
(@ x=2,y=3. (b) x=3,y=2
() x=Ly=2 (d x=2,y=1
I (x+1,y—-2)=(3, 1) BT Al x 3R y BT A4 BFT—
(a x=2,y=3. (b) x=3,y=2
(¢ x=1y=2 (d x=2,y=1

If (%Jr 1, y—%) = <%, é—) then the value of x
and y are-

2
@ x=3.0=1 ()
() x=2,y=1 (d

ﬁg(éﬂvll, —%>=<i L) gl x 3R y bl

@ x=3,0=1 (b x=lLy=73
© x=2y=1 (@ x=1,y=2

If set A and B has 3 and 4 elements respectively
then number of elements in (A X B) is -

(@ 3 (b) 4

(c) 12 (d o

I AR B H 3@udl & W@ HA: 3 3R
4% T (A X B)H 3raquai & wwar geft —

(@ 3 (b) 4

(c) 12 (d o

IfA={1,2,3,4} and B = {1, 2} then number of
elements in (A X B) is -

(@ 8 (b) 4

() 2 (d 1

afs A={1,2,3,4} IR B={1,2} & @ (AX
B) # 3raydl &1 H=aT 8-

(@ 8 (b) 4

() 2 (d 1




6. IfAXB-={(a,x),(y),(b,x),(b,»)} then set A
is equal to-
(@) {a, b} (b) {a, b, x}
(¢) {a,b,x,y} (d) None of these.
afk A x B = {(a,x), (& y), (b,x), (b,y)} & @
NREER A IR BT | 12.
(@) {a, b} (b)  {a, b, x}
© fabx,yl () T A DE T
7. If A X B = {(a, x), (a, ), (b, x), (b, y)} then set B
is equal to-
(@) {a, b} (b) {a,b,x}
() H{abxy; (d {xy}
afd A x B = {(a, %), (), (b,x), (b,y)} & @
NSRS B SXTaX 21T |
(@) {a, b} (b) {a, b, x}
© fabxy @ iyl 5
8. IfA={1,2},B={1,2,3,4} and C= {3, 4} then
number of elements in (ANB)XC is -
(a) 2 (b) 4
(c) 6 (d 8
afd A={1,2},B={1,2,3,4} 3R C={3,4} =&
ar (ANB)XC # 3rqual & e gnfl —
(a 2 (b)y 4
(c) 6 (d 8
9. If A = {1, 1} then number of elements in
(AXAXA)is - 14
(a 2 (by 4 '
(c) © (d 8
afd A={-1,1} & a1 (AXAXA) ¥ 3@l &I
A Bl —
(a) 2 (b) 4
(c) 6 (d 8
10. IfA={-1, 1} then (AXA) is equal to -
(@ {C1-D, LD, (1, -1, (1, Dj
(b) {C1-D, (1, D}
() {(=1,1),(@1,-1)} 15.
(d) None of these.
afe A={-1,1} & I (AXA) =T BT —
(a) {(_17 _1)7 (_17 1): (1: _1): (15 1)}
(b) {C1-D, (1, D}
() {1 D, (1A, -Dj
(d) T A B T |
11. IfA={l1,2,3, 4} Define a relation R from A to A
by R={(x,y):y=x+ 1} then domain is equalto-  16.
(a {1,2,3,4y (b)) {1,2,3}
(c) {1,2} (d)  None of these.
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I A={1,2,3,4},R={(x,y):y=x+1} ERT A
J AH Uh Gag gRIMYT & df R BT Uid axTaR

g‘p-”_
(@) {1,2,3,4} (b) {1,2,3}
© {1,2} (d) T8 & PIE T |

IfA= {1, 2, 3,4} Define a relation R from A to A
by R = {(x, ) : y=x + 1} then range set is equal
to -

(@ {2,3,4} (b)
() {1,2,3} (d)
afd A=1{1,2,3,4},R={(x,y):y=x+1} )
A A¥ U AeY URMINT 81 dF R $ URIR T
A dRIER BRTT—

(a) {2,3,4} b)) {1,2,3,4}

© {1,2,3} d) ST A P T
IfA= {1, 2, 3, 4} Define a relation R from A to A
by R = {(x, y) : y =x + 1} then codomain is equal
to -

(@ {1,2,3} (b)
(¢ {1,2,3,4 (d
s A=1{1,2,3,4},R={(x,y) :y=x+1} NI
A A¥ TP Hae YRHINT 81 dl R & He9id &l
A dRIER BRTT—

(@ {1,2,3} (b  {2,3,4}

) {1,2,3,4) (d) T PE T
The relation between range and codomain of a
function is -

(a)  subset (b)
(c) empty set (d)
foll et & URWR 3R Hevid & Hed el BRIl & —
(a) U I BT |

(b) wfdT wge B |

(c) R Wz &1

(d) 3T A IS T8 |

If A= {1, 2} and B = {3, 4} then number of
relations from A to B is equal to -

(a) 4 (b)) 2

() () (d @y

Ife A={1,2} IRB={3,4} 8 A9 B® 71
Hael @1 e srfl —

(@) 4 (b) 2

() ) d @

If A= {1, 2, 3} and B = {4} then number of
relations form A to B is equal to -

{1’ 2’ 39 4}
None of these.

{2,3,4}
None of these

power set.
None of these




(@) 2 (b) @y

(2) favq urda SRl & ST @ |

) @y @ @ (b) H WIHa =R & AT B |
af A= (1,23} SR B= {4} ST AV BD (c) WPt A & e F |
qe eIl P AT B — (& T E P T
(a) 2 (b) 2y 20. For a function f: R — R such that y = f(x) = x, for
(c) @2y @ @) each x€R then the function known as -
17.  If N be the set of natural numbers and R be the (@) Cons‘.[ant func.non.
. _ o (b)  Identity function.
relation defined on N such that R = {(x,y) : y = 2x, . .
o i (c)  Polynomial function.
X, yEN} then domain is equal to (d)  None of th
(a)  set of natural numbers. one ob these.
(b)  set of even natural nos. f:R - R Udh Bl & &l y = f(x) = x, S [L ]
(¢) set of odd natural nos. xER dF B ST SIdT & —
(d) None of these. (a) R B d BY H |
afe N e st 1w e ¥ 1R = {(x, (b) TS Wlﬁ o A |
y) 1y =2x,x, yEN} N R IR¥IRT UH Fde & (©) gia Wﬁl
T R &7 Wid a1 B8R — @ T E P |
(a) 9T Tl & A ol 21.  For a function f: R — R such that y = f(x) = x, for
: : each x&R then domain ot the tunction 1s -
(b) HHUTPHd IR & e b | hx€R then domain of the function i
R . . a) N b
(©) sﬂﬁ;;”% :_;“6” @ e @ | Ec; R Edi I(\Qlone of these.
(d) | .
18 ENb . | b 4R be the relat Bl f: R — R Olgl y=1(x) =x, TP xER B
. e set of natural num er_s an e't € _re ation for Bl gid e
defined on N such that. R = {(x, y) : y = 2%, X, @ N ® Q
yEN} then codomain is equal to- 2 . .
(a) set of even natural numbers. () R (d) T q PIE T
(b)  setof odd natural numbers. 22.  Forafunction f: R — R such that y = f(x) = x, for
(c)  set of natural numbers. each x€R then codomain of the function is -
(d)  None of these. (A R b Q
i N UThd Ae&msil & 99ead 8| R= {(x,y): © N (d)  None of these.
y=2x,X, yEN} N R gR¥IYd Ue Hdg & df R % f: R — R W8l y = f(x) =x, Udd xER &
BT HAGUTT SRR BT — al Herd &I WY BT —
(a) H UTHa A3l © qgEd b | (@ R ® Q .
(b) fvH Upd et & THwd B | (¢ N (d) T F PR T
(c) Uipd Rr ey T W | 23.  The graph of the identity function f : R — R such
(d) T A DY B | that y = f(x) = x, for each x€R is -
A straight line. (b)  An ellipse.
19.  IfN be set of natural numbers and R be the relation Eig A z izaclli e E d% NE rf R :)pfsti ese
defined on N such that. R = {(x, y) : y = 2x, X, ’ . ’
yEN} then range is equal to- qTHd Had f: R — R 98l y = f(x) =x, UI®H
(a) set of odd natural numbers. XER BT 3G 8T —
(b)  set of even natural numbers. (a) TP T X@|(b) T O 7q |
(c)  set of natural numbers. | & = e
(d)  None of these (© T®qd (d)

N Uipel iG] bl <hije $IR= () 24. The function f : R — R such that y = f(x) = ¢
afs N RN (constant), for each x€R is known as -
y=2x,x,yeN} N aR1fdd Ue weer & o R (a) Identity function.

BT IRER SRIER BT — (b)  Constant function.
(c)  Polynominal function.
(d) None of these.
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Hel f:R — R @l y=fx) =c @FR) IA®H
xER BT SET WAl & —

(a) dqTHD HeAd B BY H |

(b) 3R Bead B BT H |

(c) 9BUS Hed & B9 H|

(d) T A BIg 7 |

29.

TH Bl é((fc)) P BY H SR f(x) 3R g(x), x B

IgUS B Pl U URAY el Hal ol © afa —
(@) fx)=0 (b) fx)#0

() gx)=0 (d) gx#0

The function f : R — R, defined by f(x) = |x|, for
each x€R is known as -

25.  The function f : R — R such that y = f(x) = ¢ (2)  Identity functi(?n.
(constant), for each x€R has range set as - (b)  Constant function.
(@) R (b) N. (¢)  modulus function.
(c) {c}. (d)  None of these. (d)  None of these.
B f:R — R W&l y =flx) =c @FR), TA® et f:R — R, f(x) = | IS x€R & &N
x€ER & forg gReR 8rm — I € | 1 I8 ST Sl & —
@ R (b) N (a) TP Held & 9 H |
(©  {c}. (d) T A B T | (b) 3R Wele & B |
26. The graph of the function f: R — R such that y = (c) HMUI® B & BU H|
f(x) = ¢ (constant), for each x€R is - (d) T I PIE T
(a)  Ast. l¥ne parallel to Aaxis. 30. The modulus function is defined as -
(b)  Ast. line parallel to y-axis. x>0
(c)  Ast. line passes through origin. (@) flx)= o x<0
(d) None of these. Y x<0
. b fx)=9_..
HAT f: R — R &l y=f(x) =c @RR), IAH ®) " wixz0
YER PT MTRT BNT— (c) f(x)=x, for each x&€R
. d) None of these.
(@) x- 31T B FAMIR TH AXA T | ( )_
(b) y-3eT B FHMIR UH Al T | AMA(6 et IRATT & —
N x:x =0 .
(c) = ¥ ok dlell Y A T | (a) f(x):{_x,x<0 & B9 H |
(d) 379 I BIS 7| xr<0
| v =4 a
27.  Afunction f: R — R such that y = f(x) =a +ax ® )= %x:x20 |
+ax?+ ... +ax", where xR and n€Z" also a,, () f(x)=x,UAHxER D TY H |
I a ER is known as - d) T A BE T
(a)  Identity function. )
(b)  Constant function. 31. The1 fl;ngtt)on f: R — R, defined by f(x) =
(¢)  Polynominal function. R
d N fth 0:x=0 isknown as -
(d) one of these. 1ix<0
U6 Hed f:R — R QET _% f& y=1fx)=a, + (a) Modulus function.
ax+ax’+.. +ax’, STl xER, n€Z" a1 a,, (b)  Signum function.
a,...a ER SIHET SITAT 8— (c)  Constant function.
(211) qoGqD oA B Bg H | (d) None of these.
(b) 3R Hald & BT H | x>0
(c) dgUT Held & 7 | BT f:R — R, fx) =< 0:x=0 & &N
(d) T A DS TE | 1:x<0
f TR ST ST 28—
28. A function of the form (7)6), where f(x) and %\r it 7@ . 8
g(x) (a) HUIH B & B9 H|
i(X). arelpfolyn(‘)miflfal functions of x is known as a b Fre & o9 |
ational tunction 1t- .
@ =0 () f#0 DA agq;q i
© g®=0 (@ gw#0 @ |
WH&T-11 (MO —




32. If the function f: R — R, be a signum function
then the range set is equal to -
(a R (b) N
) ¢ (d {-1,0,1}
IE f: R — R Uh forg Boid & dl 3¢ IRER
g aRIER BRI —
(a R (b) N
() ¢ (d {10, 1}
33.  Iff(x) =x?and g(x) = 2x + 1, be two real functions
then (f + g) (x) is equal to -
(a) xX*+2x+1 (b) x*—2x+1
(¢) x*-2x-1 (d) Not defined.
IfT f(x) =x2 3R g(x) =2x+ 1, T aRAfAH Bead
B T (f+g) (x) IRIER BT —
(a) xX*+2x+1 (b) x*—2x+1
(¢) x*-2x-1 (d) muR™Iva
34. If R be the relation on N defined by R = {(x, ) : x
+ 2y = 8} then the domain of R is -
(a) {2,4,6,8, (b)) {2,4,8}
() {2,4,6} (d {1,2,3,4}
Ifg R={(x,y) : x +2y =8}, N gRIfdd tdh
Hee g 1 R &1 Uid &—
(a {2,4,6,8, (b)) {2,4,8}
() {2,4,6} (d {1,2,3,4}
2x ;x>3
35. Letf:R — R be defined by f(x) ={x2 ; 1<x <3
3x;x <1
then value of f(—1) + f(2) + f(4) is equal to -
(a 5 (b) 9
(c) 14 (d)  None of these.
2x ;x>3
®dd f: R — R, f(x)={x2;1<x£3 gINT
3x;x <1
gRIIAT & 1 f(—1) + f(2) + f(4) SRS BIIT —
(a 5 (b) 9
(c) 14 d) T ¥ DY T |
36. The range of the ralation R = (x, x?) : x is a prime
number less then 13} is -
@ {2,3,5,7} (b) {4,9,25,49,121}
() {2,3,5,7,11}(d) {1,4,9,25,49, 121}
[ET R = (x, x2) : x TP ST AT © O 139
BH BT} BT IRIR BT —
(@ {2,3,5,7} (b) {4,9,25,49, 121}
() {2,3,5,7,11}(d) {1,4,9,25,49, 121}
HeT-11 ATIOTA)

37.

38.

39.

40.

41.

Which one of the following is an identity relation -
(@ (1,2),(2,3),(1,3)

b (1,3),3,1),(2,3)

© (5,5,(4,4),2,2)

(d) None of these.

f=forRad # & @9 ta IS |9y F |
(@ (1,2),(2,3),(,3)

(®) (1,3),3,1),(2,3)

© (5.5,44),2,2)

(d) T A IS T |

If f(x + 1) = x2 — 3x + 2. then f(x) is equal to -
(a) x*-5x-6 (b) x*+5x-6

(¢) x*+5x+6 (d x*-5x+6

I fx+ 1) =x2—3x+2 B Al f(x) IRMER BT —

(a) x*-5x-6 (b) x*+5x-6

(¢) x*+5x+6 (d) x*-5x+6

The range of the function f(x) = (|§ i|) ;x# 1 is-
(@ R (b) R-{0}

(c) {11} (d) None of these.

Wl f(x)=%;x¢l BT IR BRI —
(@ R (b) R-{0}

© {11} (d) =T A B T

If A= {1, 3,5} and B = {2, 3} then (B X A) is
equal to -

(@  {(1,2),(1,3),3,2),(3,3),(5,2), (5, 3)}
®) {2 1),(2,3),(2,5),G,1),3,3),3,5);
(© {1, 1),(2,2),3,3),(5,5)}

(d) None of these.

afe A={1,3,5} IR B={2,3} & a (B X A)
TRTGR BT —

(@  {(1,2),(1,3),(3,2),3,3),(5,2), (5 3)}
() {2, 1),(2,3),(2,5,3,1),3,3), (3, 5)}
() {(1,1),(2,2),(3,3),(5,5)}

() T & IS TE |

If A= {a, b} then value of (A X A) is equal to -
(@) {(a a),(a,b),(b,a),(b,b)}

() {(a a), (b, b)}

() {(ab),(b,a)}
(d) None of these.

I A={a, b} B AT (A X A) BT AN RER BN —
(@)  {(a a),(a,b), (b, a),(b,b)}

() {(a, a), (b, b)}

() {(a,b), (b, a)}

(d) T A PIg 7 |

|16 J



42. E'(A X Bl)t= {(3,2),(3,4), (5,2), (5, 4)} then set i A, B3R C I Wg=ad & d A X (BNC)
1s equal to - TR & —
@ (2.4 b) 3,5 @ ANGB X C)
() {2,3,4,5} (d) None of these. (b) (A X B)N(A X C)
afd (A X B)={(3,2), (3, 4),(5,2), (5 4)) B ar © (ANB) X (ANC)
g A IRIER & — (d) T A PIS T
(@ {2,4} (b) {3,5} 47. If A, B and C are any sets then A X (B — C) is
(C) {2a 35 4’ 5} (d) 3_"“# qé[ Ebﬁg ﬁ | equal to -
43, If(AX B)={(3.2), (3, 4), (5 2), (5 4)} then set (@) A-(BXC)
B equal to - (b (A-B)xX(A-0)
@ {2345 (b {35 (@ BB (X0
© 2.4 (d) None of these. (d)  None of these.
afe (A X B)={(3,2),(3,4),(5,2), (5, 4)} & ar e A%B SR C @Iy WgeRT &l AX(B - C)
T B aRIaR § — SRTEY &
@ {2,345} (b) (3,5} E]";)) ‘& —_(g)xx%_ o
© {24 (d) T H PR T © (AXB)-(AXC)
44. IfA={x§N:xs3}andB={xEW:x<2}then (d) T | PIZ &I |
E:S X B{)(llf giu(zil’ tf): 2,0, (2, 1), 3,0), 3, 1)} 48. Ifn(A)=p, q(B) = q then total number of relations
()  {(1,0),(2,0),(3,0) from A2:0 B is equal tob- »
(@ 1L D: (6 7 5, 1 8 2pd gd; None of these
(d)  None of these. )
afd A= (xeN:x <3} 3R B= (xeW:x <2} & n(A)=p,n(B)=q & I A% B A F
2 A1 (A X B) SRR ¥ — Zslbll g%:r e GNIGN(E;— 5
(@)  {(1,0), (1, 1),(2,0),(2,1),3,0),3, D)} : :
(b)  {(1,0),(2,0),(3,0)} () 2 (d) T A Pl T
() {1,1),(2,1),@3, 1} 49. A relation which is reflexive, symmetric and
(d) TTH I DIE T2 | transitive is kI:lOWIl as-
45. If A and B are any two empty sets such that A X B Eli)) grol :Ssﬁvif;foenrzit;fn.
=B X A then we must have - (c)  Unique relation exist.
EE; ﬁ; g (d) None of these.
. 3x-2;x<0
28 Eg;:ﬁg;;d B exist 50. Iff:R — R, defined by f(x) = {1 =0
. d4x+1;x>0
afe AR B a1 iRad =9 W4 & fh A X B then f(-2) is equal to -
=B XA (@ -8 (b) 8
(@ A=B (c) 4 (d 4
®) A#B 3x-2;x<0
(c) AJR B¥9d Tl & | aﬁf:R—»R,f(x)={1 :x=0 gRTURWIfT
(d) T A DS T | N s 4x+1;x>0
46. If A, B and C are three sets then A X (BNC) is () ng2) R ®) 8
equal to - ©) 4 A 4
(a) ANBXO0) 0=t <n
?3 Eir?B}?)Q %2 r>1<CC):) 51. Arelation defined by f(x) = {3x : ) ; B ; 1018
(d)  None of these. (a) Afunction. (b) Not a function.
(c) Notarelation (d) None of these.
HafT-11 ATOTD) 52




0<x<
fx) = {3x2<x<1owwqgﬁf§_ 57.
(a) (b) el El
(c) UD e (d) T A DIE T |
52.  If f(x) = x* then the value of {M is
5-1
(@ 2 (b) 4
(c) 6 (d 8
) £ -fd) _
I f(x) = x %*Fﬁ{ 5D BT A B
(@) 2 (b) 4
(c) 6 d 8
53. If f(x) 1-x9 ! B) then the value of f{f(x)} is equal 38.
o 0
x—1 1
© = @ o
afg f(x)=ﬁ g f{f(x)} BT 9 SRR & —
@ x ©
x—1 1
(c) X (d) G-1)
54.  The domain of the real valued function,
241 59.
fx) = —1 is -
(@ R (b) R-{-1}
() R-{-L I} (d R-{l}
f(x)=§%}wawﬂﬁmvm?%aﬁﬁ%ﬁm—
(@ R (b) R-{-I}
() R-{1,1} (d R-{l}
55, Iff(x)= L then the value of f{f(x)} is equal to -
@ x (b)
() x° d x
afe fix )—iaﬁeﬁ f{f(x)} BT AN TR & — 60.
(a) «x (b) x?
() x* (d x*
56. Ifn(A) =2, n(B)=3 then total number of relations
from A to B is equal to -
(a) 22 (b) 2
(c) 2°¢ (d 2"
Ifd n(A)=2,n(B)=3 BT Al AW B& 7 @1 6l
e BT FEIT RO —
(a 22 (b) 23
(c) 2° (d 2"
WH&T-11 (MO

3x-2;x<0
Iff:R—»Rdeﬁnedbyf(x)={1 ;x=0
dx+1;x>0
then value of f(3) is equal to -
(a) 11 by 12
(¢) 13 (d 14
3x—2;x<0
m%f:R—»R,f(x)={1 ;x=0 g
4x+1;x>0
gRYTRT & a7 £(3) BT 719 a_&R & —
(a 11 (b)) 12
(¢) 13 (d 14
3x-2;x<0
Iff :R—»Rdeﬁnedbyf(x)={l ;x=0
dx+1;x>0
then value of [f (-2) + f(2)] is equal to -
(@ 1 (b)) 2
(b 3 (d 4

3x-2;x<0
IEf:R—R,fx)=< 1 x =0 gRT UR¥IYd

dx+1;x>0
81 ar [f(=2) + f(2)] BT AF ¥R & —
(@ 1 (b 2
(b) 3 (d 4

IfA= {x€N:x <3} and B= {x&€W :x <2} then
(B X A) is equal to -

(@ {0, 1),(0,2),(0,3)}

®) (1, 1),(1,2),(1, 3)}

© {0, 1),(0,2),(0,3), (1, 1), (1,2), (1,3)}
(d)  None of these.

I A= (xEN:x <3} 3R B= {xEW:x<2}
8 ar (B X A) SRIER -

(@ {0, 1),(0,2),(0,3)}

(®) {1, 1, (1,2),(1,3)}

(¢) {0, 1),(0,2),(0,3), (1, 1), (1,2), (1, 3)}
(d) 3T & PIg T |

In general (A X B) is not equal to -

(a) (AXB) (b) (A X B)isnotPossible
(c) (BXA) (d) None of these

A (A X B) S_T6R &l 8IaT & —
(@ (AXB) (b) (A X B)¥wq &l €|

(¢) (BXA) d) T A IS T

If f (x) = x* then value of %)__fl(l)} is equal
0 -

(@) 12 (b) 2.1

(c) 13 (d 3.1




o fy=parar LD} o o g —

(1.1H-1
(a 1.2 (b)y 2.1
(c) 13 (d 3.1
62. If f (x) = x3 then value of {w is equal
to -
1 1
@ ® 3
1 1
© - @ =
R f)=x arar LA} o am qrmer
5 _ 49
1 1
@ O
1 1
© - @ =
63. IfA={x2,+1,0} and f: A — Z such that f (x) =
x* — 2x — 3 then pre-image of 5 is -
@ o by -2
(b)) 2 (d -8
afe A={+2,+1,0} IR f:A—-Z W € &
fx)=x>—2x—3 & AT 5T Uik ufafdg & —
(a o0 by -2
by 2 (d -8
64. IfA={£2,+1,0} and f: A — Z such that f(x) =
x* — 2x — 3 then pre-image of — 4 is -
(@ 1 (b)y -1
(c) 2 (d -2
afd A={+2, 1,0} IR f:A—-Z a1 & &
fx) =x>—2x—3 B Al —4 &1 Uid ufafdd § —
(a 1 (b) -1
(c) 2 d =2
65. IfA={+£2,+1,0,3} and f: A — Z such that f(x)
= x* — 2x — 3 then pre-image of 0 is -
(a -1 (b) 3
(c) Both (@)and(b) (d) None of these.
afd A={*2,+1,0,3} AR f:A—-Z VAT & &
f(x)=x*—2x—3 B @ 0 & Uk ufafda & —
(@) -1 (b)y 3
©) (23R (b)IF() T F PIE T |
66. IfsetsA=1{1,2,3},B= {2,3} and C= {1, 2} then
total no. of possible relations in (ANB)XC is -
(@) 2 (b)y 4
(c) 8 (d 16
afe A={1,2,3},B= {2,3} 3R C={1,2} &I
al (ANB)XC ® gt dIfad ey § —
(@ 2 (b) 4
(c) 8 (d 16
WH&T-11 (MO

67.

68.

69.

70.

IfsetsA={1,2,3},B= {2,3} and C= {1, 2} then
total no. of possible relations in (ANB)X(ANC) is -
(a) 8 (b)) 16

(c) 4 (d 2

afd A={1,2,3},B= {2,3} IR C={1,2} &1
al (ANB)X(ANC) # det |1 e & —

(a) 8 (b) 16

() 4 (d 2

The range set of a function 'f' is a subset of -

(a) {1,2} (b)  Pre-images set.

(c) Domain (d) codomain

ol fHT IR AHzdd Sz =N —

(@ {1,2} (b) HR-EET BT qg= |
(c) Uid | (d) 8 9id &1

Ifsets A= {1,2,3},B= {2,3} and C= {1, 2} then
possible no. of relations in AX(BNC) is -

(@) 2 (b) 4

(c) 8 (d 16

Ife A={1,2,3},B= {2,3} IR C={1,2} &I al
AX(BNC) ¥ el |Ifad Hael &1 Fe=ar srfi—
(@ 2 (b) 4

(c) 8 (d 16

Which one statement is true -

(a)  every relation is a function.

(b)  every function is a relation.

(c) every relation must be a function.

(d) None of these.

DI AT BT T & —

(a) UAD TS Th el B8N |

(b) UIF BT TH A& BN |

() IIP ey FfR¥ad v | B € |

(d) 3T A IS T |

Very Short Answer Type Questions
(erfa org S yw)

2 2
If (%* 1, y*§>:(?s ?> then find the value of
xandy?

2 2\

RIS (%*1,)’*;‘):(?’ g) g dl xR y &l
A Hared |
IfG={7,8} and H= {3, 4, 1} then find G X H
and H X G?
Ifd G=1{7,8 IR H={3,4,1} 8T GxH
IR H X G &I A fAared |
If set A= {=1} then find the (A XA XA)?




He&T-11 (oI

afe T e A= {£1} 81 T (A XA XA) BT A4
ferepTet |

If f (x) =x*and g (x) = 2x + 3 be two real functions
then value of (f/ g) (x) is ?

afe f(x)=x2 3R g (x) =2x+3 &I aRAfADH HeAT
g T (f/ g) (x) BN

A function f'is defined by f(x) =
the value of f (4) and £ (0) ?

Wf,f(x)=2"zT_3zﬁmcrﬁwﬁﬁaéa#f(4)
qe £(0) &1 79 fHepred |

2% -3

then find

Short Answer Type Questions
(crg S8 )

IfA={1,2,3},B={3,4} and C = {4, 5, 6} then
find value of (A X B)N(A X C) ?

afd A={1,2,3},B=1{3,4} IR C={4,5,6} &
ar (A X B)N(A X C) &1 A9 e |
IfA={1,2},B={3,4} and C = {4, 5} then verify
that (A X B) X C=A X (B X C).

afd A={1,2},B={3,4} R C={4,5} & I
[T @ fb (A X B) X C=A X (B X C).
IfB= 10, 3, 5} then find (B X B) also find n(B X B) ?
afe B=1{0,3,5} & @ (B X B) ¥ & n(B X B)
BT H19 fepTed |

IfA={2,3} and B = {3, 5} then find (A X B) and
n(A X B)?

afd A={2,3} IR B={3,5} 8 I (A X B) &1
2l n(A X B) &1 #19 fAare] |

Long Answer Type Questions

(el Sad geA)

IfA={xeN:x*-5x+6=0},B={xeW:0< x
<2} and C = {x&€N : x <3} then verify that.

A X (BUC) = (A X B)U(A X Q).

I A= {xEN:x2—5x+6=0},B={xEW:0 <
x<2} 3R C={xeN:x<3} B A FAMIT TN
f& — A X (BUC)=(A X B)U(A X C).
IfA={xeEN:x*-5x+6=0},B={xeW:0=< x
<2} and C = {x&€N : x <3} then verify that.

A X (BNC) = (A X B)N(A x C).

G A= {xEN:x*—5x+6=0},B= {xEW:0 <
x<2} 3R C={xEN:x <3} B Al FAMIT PN
fd — A X (BNC)=(A X B)N(A X Q).

Iff(x)=x+ % then show that

(FO0P =£) + 31 ()

afg f(x)=x+% g ar <ot fa—

(FO0P =£) + 31 ()

Find the domain and the range of the real Valued

x> —25
X

function f (x) = —g5 X £5

Wﬁﬂst(xF%:x;bszﬁqﬁ&ﬁ?
gRER &1 A9 Aared |




Multiple Choice Questions 5. We have,
(g fawedia gew) . 2x%-3
x)="3
1 b 2 a (@B) c 4 ¢ (5 a 2% (0)2-3
6 a (7 d (@® b (9 d (10)a f(0) = >
(1) b (12) a (13) ¢ (14)a (15 ¢ 0-3 -3
(16) ¢ (17) a (18) ¢ (199 b (20) b -2 2
21) ¢ (22) a (23) a (24) b (25) ¢ 2% (4)*-3
26)a 27) ¢ (28 d (29 c  (30) a and f (4) 2
B b 32)d (33) a (4 c (35D _2x16—3 _32-3
36)b B37) c (B8 d (39 c (40) b - 2 2
(41) a (42) b (43) ¢ (44) a  (45) a -5
(46) b (47) ¢ (48) ¢ (49) a  (50) a
(G b (52) ¢ (53) ¢ (34) ¢ (55) a Short Answer Type Questions
56) ¢ (857) ¢ (58) a 59) ¢ (60) ¢ (eg S8 uE)
(61) b (62) d (63) b (64 a (65 ¢
66) d (67) b (68) d (69 c  (70) b 1. We have,
A={1,2,3},B={3,4}and C = {4, 5,6}
Very Short Answer Type Questions LAXB=1{1,2,3} X {3,4}
IR CIE SRR ERT, = {(1,3),(1,4), (2,3). (2,4), 3.3), (3, 4)}
and
I "'<§_1’y 31):(%%) AXC={1,2,3} X {4,5,6)
INE T S ={(1,4),(1,5),(1,6),(2,4),(2,5), (2, 6), (3, 4),
3 3 Y373 3,5), (3, 6)}
x 2 2 4 hence,
3oy flandy= 3+ & (A X B)N(A X C) = {(1,4), 2, 4), 3, 4)}
X3 andy = g 2. We have,
33 A={1,2},B={3,4} and C = {4, 5}
= x=>andy=2. S (AXB)={1,2) X (3,4}
2. We have, = {(1’ 3)’ (1, 4)9 (2’ 3)a (2a 4)}
G= {7, 8} and H = {3, 4, 1} (A X B) xC :{(1’ 3)’ (13 4), (25 3)’ (2a 4)} X {45 5}
. GXH= {7, 8} X {3, 4, 1} = {(1’ 3’ 4)’ (1’ 3’ 5)’ (1’ 4’ 4), (1’ 45 5)3 (23 3'a 4)a
={(7,3),(7,4),(7, 1), (8, 3), (8, 4), (8, 1)} (2, 3., 5),12,4,4),(2,4,5}F (1)
and Again,
HxG={3,4,1} X {7, 8} (B X C)={3,4} x {4,5}
={(3,7),(3,8),4,7),428),(1,7),(1,8)} =1{(3,4),(3,5), (4, 4),(4,5)}
AX (BXC)={1,2}x{(3,4),(3,5),(4,4), (4,5)}
3. Wehave, ={(1,3,4),(1,3,5), (1,4, 4),(,4,5), (2,3, 4),
A={zli={-L1j (2,3,5), (2,4, 4), (2,4,5)} e (i)
SAXA=CL X -1 from (i) and (i)
=L =D, 1 D, (1, =1), (1, 1) (AXB)X C=AX (B x C).
hence, 3 We have
AXAXA={1,-1),(1,1),(1, 1D} x {~1,1} > ;
={(-1,-1,-1), (-1, 1,-1), (1,-1,-1), (1, 1,-1) B={0,3, 5}
= (-1,-1, 1), (-1, 1, 1), (1, =1, 1), (1, 1, 1)} S BXB=1{0,3,5} X {0,3,5}
. ., _ =1{(0, 0), (0, 3), (0, 5), (3, 0), (3, 3), (3, 5), (5, 0),
4, f(x) =x* and g(x) =2x + 3 (5,3), (5,5)}
. <£> ) & also,
-\ g)®Teq) T 2 +3 n(B X B) =9
HefT-11 0T =7

Answer key STIHTAT
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We have,
A=1{2,3} and B= {3, 5}
SCAXB={2,3}%{3,5}
=1{(2,3),(2,5),(3,3),3,5)}
also,
n(A X B)=4

Long Answer Type Questions

(el ST 9eA)

We have,
A={xeN:x>-5x+6=0}
B={xeW:0=<x<2}
C={xeN:x<3}
> A=1{2,3},B={0,1} and C= {1, 2}
Now,
BuC={0,1,2}
SAX (BUC)={2,3}) x {0,1,2}
={(2,0),(2,1),(2,2),(3,0),(3,1),(3,2)} ...()
Again,
(AXB)=1{2,3} x {0, 1}
= {(2,0), 2, 1),(3,0), 3, 1)}
(AXC)=1{2,3} x {1,2}
= {2, 1),(2,2),3, 1), 3, 2)}

" (AX B)U(A X C)={(2,0),(2,1),(3,0), (3, 1),

(2 2,32y L. (i1)
from (i) and (ii)
A X (BUC)=(AXB)UAXC(C)

We have,

A={xeN:x>2-5x+6=0}

B={xeW:0<x<2}
and C={x&eN:x<3}
=>A=1{2,3},B={0,1} and C= {1, 2}
Now,

BNC) = {1}

SJAX(BNC)=1{2,3} X {1}
={(2,1),(3, 1} (1)

Again,

(AXB)=1{2,3} x {0, 1}
={2,0,2,1),3,0),3, D}
(AXC)=1{2,3} X {1,2}
={2,1),2,2),3,1),3,2);}
SJAXBINAXCO={2,1),3, D} .. (ii)
from (i) and (ii)
A X (BNC)=(A X B)N(A X C)

We have, |
f(x)=x+ e 6))]

er(L)- Lo
X x(L
x

Cubing eq” (i) both sides
(ry=(x+ 1)

ot
o)
=f (%) +3f (*) ; [ by using (ii)]

> (F)P =)+ 3f<;>.

=25.
We have,
£ ()= x -25

x-5

Clearly, f (x) is defined for all real values of x for
which (x = 5)#0
Le.x #5.

.. Domain (f) =R — {5}
Again,
let y = f(x)

x*-25

x-5
x*+5)(x-5)
= (x-5) JXES

>y=x+5;x#5
>y#E5+5
= y#10.
= y can be any real value except 10.
.. Range (f)=R - {10}

>y=






